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A=(-2-1,0,1),B = {3, 5, 7, 8)

A and B are equivalent sets. :
A=(0,1,2,3,4}, B=(1,23,4,5
A and B are equivalent sets.

A=(a, e i 0, u),B=(l,m,n, o}

A and B are non-equivalent sets.

A = The set of 4 natural numbers

Ve
o=t
e

"B = The set of 3 wild animals.

A and B are non-equivalent sets.
A=Thesetof5nversof?umab .
B = The set ofthecoloursm?aknstans

flag.
A and B are non-equivalent sets.

Which of the following pairs of sets are
equal sets. :

A={ab,¢,d,e},B=(b,a,edc}
A and B are equal sets. .

- A=(1,223,4,5),B ={1+0, 1+1, 1+2, 143, 1+4])

A and B are equal sets.

"[ov 1,23, 4),B={6'29 5“1»4—29 3“]» 2-2)
AandBarenotequalaeta
As'l‘hesetofevennmnberslebsthmo
B={0,2,4,86,8)

A and B are equal sets.

IfA={a b, c),B= ={b; ¢, d}, C = [c, d, e}
andD={a,b,c,dlwhichofthe.
following statement are true? Co.-

AcB ¥ Ans. False

BcD - - Ans. True

. iy



ThesetofEnghshalphabetsbetweenu

and v. |
It is an empty set. '

The set of vowels others than a and o.

It is not an empty set. =

The set of natural numbers less than 1,
Itisanem;ityset.

The set of even pumbers which are called -

odd numbers. :

Ans. It is an empty set.

Q.2. Separate the finite and mﬁmte set from
the following,

A =[letters of the word “halla gulla”}
B = The set of the natural fumbers

=

‘é’?E’EE’

= {number of days in a year)
D ={ Islamic months}
E=13,6,9,..]
F=lcf,Lmo,rul
oA )
Ans. A, C,Dand F are finite sets. B, E and G are
infinite sets,
" Q3. Find that the following pairs of sets are
equivalent or pnon-equivalent, :

i A={1,2),B={1371)

Ans. A and B are non-equivalent sets.
ii. A=labB=lxyl

Ans. A and B are equivalent sets.
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Q 1. Wthh of the f
e ollowmg set is an empty
=1, The set of the whole numbe than 5
Ans It i 1s not an empty set. 5 leSS -
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€ =The set of 4 domestic animals. |
{Buffalo, Cow, Horse, Donkey]} ' ‘ ~
D= Thesetof5blrds. : : o)

(Pigeon, Sparrow, Eagle, Crow, Hen) e
E = The set ef 3 pnme ministers of

. Pakistan
; {Llaqat Ah Khan, Benazu' Bhutto Yousaf Raza

Gillani}

 F =The set of 5 famous cities of Pakistan.
: {Islamabad Karachi, Lahore, Quetta,

Peshawar}

G = The set of letters of the word
“banana”.

{It is not set because t.he members of the set
{(b,a,n} are not distinct. :

I = The set of vowels of the WOrds
“naughty”
{as lI} A =

- J =The set of the years greater than 2006

and less than 2009,

{2007, 2008}

K = The set of 3 bakery 1tems
{Pizza, Cake Blscmts}

>,



w
Q1. Write ‘the following sets  into
descriptive form. A
A= (1, 2, 3, 4,5, 6} :
~ Ans. ‘The set of first six natural numbers.
f B = (0,1, 2 ceeee 99} .
Ans. The set of first hundred whole numbers.
B C = [Cricket, Football, Hockey, Tennis}
Ans. The set of four games ' :
- B =1{2,4, 6, ceee- }
Ans. The set of even numbers. '
: F = {Potato, ladyfingers, carrot, brinj al}
Ans. The set of four vegetables. %
N ={1,2,3 ) ' '
Ans. The set of natural numbers.
| 0=1(1,3,5, ..ce:)
. Ans. The set of odd numbers
I wWe=101, g e O
~ Ans. Thesetof whole numbers. |
- X = {father, mother, brother, sister}
" Ans. The set of family members . ,
Q.2. Write the following sets into tabular
forms. g T

A = The set of names of 3 boys whose

Ao names start with letter SR

oy Ans. (Benjamin, Burhan, Badar}

| B = The set of names of 3 girls whose -
- names start with letter “I”.

Ans. (Iram, Insha, Igra}




Sol. s

- C,D,E and not set because thexr members are
not distinct. H, I, L are not sets because their n;pmbers
are not.well-defiried. A BF,G,J, K, more %

Q.6. List the ‘elements of following sets.
i.  The set of five couutries.
: ~ Ans. {Pakistan; Austrailia, SirLanka, England, Indxa}
ii.  The set of the three games.
Ans. (Cricket, Tennis, Footba]l}
iii. The set of first ten natural numbers.
Ans.'-(12345678910}
iv. The set of first eight even uumbers.,
Ans. (2, 4,6, 8, 10, 12, 14, 16}
V.  The set of vowels,
Ans. {a, e, i, 0, u} :
... The set of last four ménths.

A

vi
Ans. {September, “Octobei', November, December)
~vii. The set.of seven days of the week,
" Ans

. {Monday, ’I‘uesday, Wednesday, Thursday, ;
Friday, Saturday, Sunday}

viii. The set of the colours of Paklstam flag.
Ans. {Green, Whlte}

. ix. * The set of five rivers of the Punjab.

. Ans. (River, Chenab, Sutle), Jhelum, Tndus)

X, The set of three Islamic months.

- Ans. {Rajab, Shaaban; Ramadan) | o




ii.

f.iii.

1iv.

- Ans.

Lahorelsthe numbe of t P. _-
'Ans.

Lahore € P

1 is not an element of the set E.

1¢ E :

Sindh does not belong to the set-B'

. Sindh ¢ B ;
~ Potato is an elements of set V.

Potato € V
0 belongs to the sets A

. _Oe .
ii. -cisnot an elements of the set.C.
. ceC - ' :

viii. Mango is not the member of the set F

Mango ¢ F
5is an element of the set N.
5e N

4 is not an element of the set O.

. 4¢0

. Which of the followmg collection aré

not sets and Why" ,

A= (b, a,n, k} = {2, 4, 6, 8}
c=1{0,1,2,0} .D=(k,i,l-,l,e,.r}.‘
E={, e, g al} F=19,3,5, 1}

G = The set of story books.

~ H = The set of beautiful birds.

I = The set of rich people.
J = The set’ ot students in Ttk class
K = The set of fish in the river Ravi.

" 1L = The set of bad students in class

M = The set of wooden chairs.
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Q.3

beA - .~ False
de A , . True
c¢B X False |
S e Was R "‘Truef"«"_,
leden e True
feeA | ~ Palse
veA e False
TEA s e
7€ B | 4 True
meB o  False
aeB | | True

Fill in the blanks by using elther of thc
symbols ¢ and ¢

1 ¢ (2,3)
b_e  (abo
Hiae the set of vowels
Snake __¢ the set ofr pets..
15_ e _ thesetof counting numbers
P - the set of whole numbers,

Goal keeper ¢ the.setiof cricket team,
B e the set of small letters of English




L. Cel v . Ans. False =~

oo Aepe e s il Tie

g B " Ans. False

vi CcA 7. . Ans. Talse




“
Q.3, Write the following sets mto tabular
o formsy

‘1. The set of ﬁve even numbers.
Ans, {2,4,6,8, 10}

i, The set of numbers less than 23 and
e greater than 17, - |

Ans. {18, 19 20,21, 22} |
iif, - The set of letters of the word ORANGE.
- Ans. (O,R AN, G E) |

iv.  The set of whole number less than 5.
,'Ans.'{01234} ' ‘

Q4. Separate finite, mfimte and empty sets

N = The set of rivers in Pakistan
Ans, Ais finite

il. B =Set of all natural numbers R
Ans, Bisinfinite. = - o

~ i, C=The Set of no. of people on moon.
Ans. Cisanemptyset, |

Q5. Separate equlvalent ~and  non-
- equivalent pair of sets,

i A=(L35,  B=(246)

i, C=z{(king.D=lal ml
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List the elements of followmg sets

The set of first four months
{January, Febroary, Ma_rch, Apnl}
The set of last six capital letters.

yWEED
‘The set of five odd numbers _
N3&LY - '

 The set of four colours \

(Green, Blue, Red, White}
The set of three planets in solar system

. [Venus, Earto Mass}“

erte the reason Why followmg

: collectlons are not sets

{112233}

. Because members are not dlstmct. ,
{b,0,0,k}

Because members 'are not distinet.

(40,4, )

Because members are not dlStlIlCt. o

P T |‘|__ f




Sol.

1.
il

* ' B'=(orange, apple, mango}

. Filli m the blanks in followmg palrs of sets
{0 make them equal. |
A= {e,a,rth}B A o }y\
A={0.24B= 10 -
- A = {apple, mango, orangel .

B = {orange, e

{ea,rth}B {terha}
A 0,2,4),B= (2.4,0).5 0
A = {apple, mango, orange}
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Ans.

- F

Ans.

1v.

~ Ans,

' Objeedive Exeruise

Answer the following Questiohs. :

Define a set.
A collection of distinet and well defined objects

is called a set.

~ Whatis meant by the symbol e"

The symbol ‘¢’ means is an eleme,nt of or’
belongs to. At

Name two forms for descnbmg a set.

i, Tabular form

I, Descnptwe form

What 1s meant by word distinet in a set?

[t means an object appears only once and does

not repeat.
IfX=1{a,h, c}andY {c,a,b}arethese

- sets equal or not?

Yes, ‘hey are equal.



s Q2 Fill in the blank,

L One-to-one correspondence can not he ”

established between - gets i
i, means a specific property of an objéct
that enable it to be an element of a set or pot

iii, ~ The symbol means does not belong to the
set.

W et is also known asnull set,

V. The symhol ¢ is used for two sets.
Answer; ' '

L non-equivalent i1 well defined

ill, € Iv. empty set
V. non-equivalent '

. Q3. Tick (v ) the correct answer,
1. Torepresent o equal sets, we use the symbol

e b.c G s
. Towrite an empty'set, we use the symhol
a, € Be-ctiiee d e

Lk IfA = get of vowels, then |
a1¢A  beeA CueA dagA
v IfA={, 2,3landB=1{0, 1, 2,3,4), then

a.AcB b A=B ¢AcB dAoB
V. (}isknownass ~ *

- a  null set b.  suhset



